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Examine the relevance of functionalist :—ipproach to understand

social inequality in contemporary societies. - 20
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Inequality is a producf of hiétory. Explain the reléVanc‘e of this

statement’ with ,réference to Marxian theory. _ 20
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“Caste produces competitive inequalities rather than hierarchy™.
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How does the interface between ethnicity and race to explain

social inequality in different societies. 20

Wwamwﬁw@wwuﬁfmmaﬁ
T SN [RE TER W ¥ 2

~ Section C
(@vs ‘4
How can the changing nature of industrial societies be explained
through studies of social mobility. S 15
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How do mobility studies -indicate that open societies are not

egalitarian ? 15
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Class may be a necessary but not essential precondition to explain
social iﬁqua]ity..Elaborate.. 20 :
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Do you agree with thve view that inequality between men and

women is the characteristic common to all human societies ? 20
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